=T

1. 5

BARELTsH%XE i
HETMAN AR 3 4 IR

82 a4 aE
HDA-PR
‘ 3 4" & WMM& Jixl'yw
(@) — (3)
."/f’ \\

]

(1) Zoh—KIK [B AL : mm]
£ 2R A)—TE RIKE FSimEhE | RlE
/ Is ds1 ds2 ds3 dc at
HDA-PR M10 x 100/20 150 100 19 16.8 18.5 19.5 10
HDA-PR M12 x 125/30 190 125 21 18.8 20.5 21.4 12
HDA-PR M12 x 125/50 210 125 21 18.8 20.5 214 12
HDA-PR M16 x 190/40 275 190 29 26 29 29 16
HDA-PR M16 x 190/60 295 190 29 26 29 29 16
(2)~(3) Tvirv—-Fvk [B5L: mm]
(2) RFY24 Ty %— DIN 6796 (3) AfF vk EN 4032-2000
"o "= oK e ~ g B
d; dz S w
M10 27 10.5 3 17 10
M12 32 12.5 4 19 12
M16 45 16.5 5 24 16
2. M8
T7oh—RILk PIEIMI AT L RER 1.4401, 1.4404 or 1.4571
ATV G I v— RTUL R

RATYE

SR iEHRE 01/2021

ATUL R A4-80




